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— ~ The calendar year-end adjusted trial balance for Acosta Co. follows:

ACOSTA CO.
Adjusted Trial Balance
December 31, 2018

Debit Credit
Cash $100,000
Accounts receivable 7,000
Prepaid rent 15,000
Prepaid insurance 9,000
Office supplies 3,300
Office equipment 8,000
Accu Dep-Equipment $3,200
Building 350,000
Accu Dep-Building 42,000
Land 700,000
Accounts payable 5,800
Salaries payable 14,500
Interest payable 2,500
Long-term notes payable 52,000
Share capital 1,000,000
Retained earnings (1/1) 10,000
Dividends 200,500
Service fees earned 370,800
Salaries expense 90,000
Insurance expense 5,200
Rent expense 5,000
Depreciation expense-Equipment 800
Depreciation expense-Building 7,000
Totals $1,500,800 $1,500,800
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(Note: A $7,000 installment on the long-term note payable is due within one year.) (18%) 1/5
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.~ Sony Company had a beginning inventory of 70 units and the total cost is $ 5,950. The accounting
records of Sony show the following data during this month

1/3  purchase 50 units  E4fr R A@ $90

1/8  purchase 100 units  HE {3 i, A @ $92

1/9  sales 110 units ¥ 4fr & F@ $120

1/12  purchase 60 units  FE 4L &A@ $94

1/15 purchase 50 units  FEAfr &A@ $95

1722 sales 90 units B EF@ $125

Required 1: Compute the cost of goods sold, ending inventory, under a periodic inventory system
(ending inventory is 130 units) using (1) FIFO (2) Average cost method.

Required 2 Compute the cost of goods sold, ending inventory, under a perpetual inventory system
using (1) FIFO  (2) Moving Average cost method.

FHBETY BB IEANEZANBE M RALRFOBIANZEES (24%)
BEEAWT

1
FIFO AVG.
COST OF GOODS SOLD
ENDING INVENTORY
2
FIFO MOVING AVG
COST OF GOODS SOLD
ENDING INVENTORY
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— ~ Selected transactions for the Eldon Company are listed below.

Collected accounts receivable.

Issued ordinary shares for cash.

Sold long-term investments for cash.

Issued ordinary shares for equipment.
Repaid five year note payable.

Paid employee wages.

Converted bonds payable to ordinary shares.
Acquired long-term investment with cash.
Sold buildings and equipment for cash.

Sold merchandise to customers.
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Classify each transaction as either an operating activity, an investing activity, a financing activity,
or a noncash investing and financing activity.

BEUHAER O, LEN, [EIF
O RFEFREE) 1ARKEEE FAFREWEY NARIRERSZHEMREETE (20%)

PO~ 2016/12/31 S ABIEERBERERAT ¢ (10%)

JEUIIRRK 1,020,000
Tk RERIR | 60,000
2017 LB EU TS

N 2,670,000
B. HEREIEEITEWGRS) 40,000
C. FEURFXUCER 2,300,000
D. IR 65,000
E. BIMEEHRHZIER 20,000

1. 3520171231 HiRFERERE - (hLUBUIRKE L (5%) FEIRFIRIR » SRIREER T
2. H52017/12/31 HAREEEES - RLRRESFEHE L (5%) JRIRYIEIR - SEHREER s 3/5
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(a)$1,000 (b)$2,000 (c)$3,000 (d)$4,000

2. Tyler, Inc. had the following bank reconciliation at March 31, 2017:

Balance per bank statement, 3/31/17 €74,400
Add: Deposit in transit 20,600

95,000
Less: Outstanding checks 25,200
Balance per books, 3/31/17 €69,800

Data per bank for the month of April 2017 follow:

Deposits €89,400
Disbursements 99,400

All reconciling items at March 31, 2017 cleared the bank in April. Outstanding checks at April 30,
2017 totaled €12,000. There were no deposits in transit at April 30, 2017. What is the cash balance
per books at April 30, 20177

a. €52,400 b. €59,800 c. €64,400 d. €73,000

3.Silas Corporation had net income of $240,000 and paid dividends to ordinary shareholders of
$40,000 in 2017. The weighted average number of shares outstanding in 2017 was 60,000
shares. Silas Corporation's ordinary shares are selling for $76 per share on the New York Stock
Exchange. Silas Corporation's price-earnings ratio is

a. 3.2times. b. 19 times. c. 22.8times. d. 12.7 times.

4. ABC Company accepted a national credit card for a €12,500 purchase. The cost of the goods sold is
€10,000. The credit card company charges a 3% fee. What is the impact of this transaction on net
operating income?

a. Increase by €2,425 b. Increase by €2,500  c. Increase by €2,125  d. Increase by €12,125
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5.An investor has a long-term investment in ordinary shares. Regular cash dividends received by the
investor are recorded as

Fair Value Method Equity Method
a Income Income
b. A reduction of the investment A reduction of the investment
c Income A reduction of the investment
d. A reduction of the investment Income

6.Judd, Inc., owns 35% of Cosby Corporation. During the calendar year 2015, Cosby had net earnings of
$300,000 and paid dividends of $30,000. Judd mistakenly recorded these transactions using the
fair value method rather than the equity method of accounting. What effect would this have on the
investment account, net income, and retained earnings, respectively?
a. Understate, overstate, overstate b. Overstate, understate, understate
c. Overstate, overstate, overstate d. Understate, understate, understate

7 BB N A% 2006 £ 7 A 31 BN RERBTHRE  HRTHEFRHE
7 B 31 BERITHIRERR A LR EEARTEZ 30%
AT LR AR R Z ik 2 453$9,000
& RHR X F$2,000
718 75 #.$30,000
4247 F 4 % 51,000
REAMBE DR 2006 =7 A 31 B4RITHWRERBERASL VY
(2)$100,000  (6)$70,000  (c)$108,000 (d)80,000




